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Lab exercise 3
INS | RUC I IONS:

Attempt all questions
1. Lab exercise three
Type the text below as it is

Well, there's a very simple answer to this: the router does not know : Either the
entire Ethernet interface goes down, in which case both next hops become
unreachable anyway, or the Ethernet interface stays up and in this case, the router
has no direct way of knowing that one of the next hops went down. (04mks)

a) Format the text color blue (01 mk)
b) Bold the first letter of the paragraph (01mk)
c) Insert a heading “How router can know that the next hope is down”
(01mk)

d) Insert asub heading they work harder (01mk)
e) Aply arelevant text effect to the word Ethernet which is in the third line of the

paragraph (01 mk)
f) Highlight the third line violet (01 mk)
g) Insert a water mark of your choice to the document (01mk)
h) Format the page color light blue (01mk)
i) Break the document into three column (01 mk)
j) Format the font size 14, Time new roman. (02 mks)
k) Bold and italicize the word Alvis (02 mks)

I) Format the heading bold, italic and wave underline with purple color

m) Strike through the word router in the first line

n) Type the word 21% and 21cenwary at the end of the paragraph

0) Save your work on your CD (02 mks)
p) Print your work (01 mk)



